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Difference of Perfect Squares
Show all work and reasoning.  Use a pencil and highlight your answers.

	1.  Factor Completely.  
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	2. Given the table
· Determine whether the function is linear, exponential, or quadratic, and explain how you know.

· Determine both the recursive and explicit formulas.

a)
x

f(x)

–2
-6
–1

-4
0
-2
1
0
Type:

Reason:

Recursive:

Explicit:
b) 

x

f(x)

–1
26
0
104
1
416
2
1664
Type:

Reason:
Recursive:

Explicit:
c) 

x

f(x)

-1
-2
0
-1
1
2
2
7
Type:

Reason:
Recursive:

Explicit:



3. Complete the square to write in vertex form.
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4. Convert the quadratic to standard form.
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5. Solve for x.
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